BT TRIA O - HEHHEE X T ﬂﬁﬁkjeﬁozﬁ KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,854 86,760 41,363 45397
RIRET1T 6 15 9 6
RIRET2T 28 55 27 28
AIEET3T 178 591 291 300
RIRET4T 411 997 496 501
B 623 1,658 823 835
REH 2,669 6,191 2,889 3,302
L&A 4,209 9,439 4,436 5,003
5E 2,562 5,973 2,907 3,066
B AN 1,261 2,846 1,322 1,524
BERT 1,319 1,996 946 1,050
BER2T 721 1,368 666 702
BHERST 385 859 414 445
g 2,425 4223 2,026 2,197
BARE 280 682 351 331
= 2,195 5,194 2,460 2,734
hERE 618 1,430 650 780
e 2,452 5,258 2,539 2,719
25 L ET 2,306 5,140 2,446 2,694
B &AL BT 77 162 67 95
HEFILET1T 562 1,209 568 641
HEFILET2T 611 1,349 641 708
HEZFILAT3T 618 1,439 709 730
g 1,868 4,159 1,985 2,174
B & it B Fr ET 680 1,614 786 828
BHEREBET1T 600 1,240 592 648
BHERERET2T 765 1,747 843 904
BHERERETST 790 1,693 777 916
HERERET4T 465 961 461 500
HEHFMHETST 820 1,712 808 904
HEHFHET6T 883 1,967 953 1,014
HEFRET7T 883 1,922 934 988
HERERETST 70 222 105 117
£t| 5276 11464 5,473 5,991
HEF R FET 1,860 3,950 1,922 2,028
S|EFET1T 575 1,553 775 778
S|EFET2T 764 1,808 854 954
S|EFET3 T 716 1,409 641 768
g 2,055 4,770 2,270 2,500
ERE1T 571 1,356 647 709
EIRET2T 390 1,046 525 521
EREIST 479 1,311 642 669
EIRETAT 696 1,507 675 832
EIZEIST 486 1,002 507 495
g 2,622 6,222 2,996 3,226
MEH 2,783 6,325 2,984 3,341
J\THET1T 33 36 13 23
J\THET2T 27 70 34 36
J\THEI3T 50 116 51 65
B 110 222 98 124
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